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Section-A

Ceneral Intelligence and Reasoning

D:rectlons (Q. Nos. 1-2) Fmd the odd
- word/letters/

number -from given
alternatives, . ‘ :
1L @42 - (b
(c)693 (d)éen -

2. (2) 1649 (b) 1664
@00 - (d2

Directions (Q. Nos }S)Asenensgwen
with one (or more) term missing. Choose the
correct altemative from the given ones that
will complete the series.
S.DFLMT _
@P-®Q R @1
4. AEl, BF), CGK, ? ' -
© (a)DHL ~ (b)DLH
s (@
5.°1,6,15,1,45, 66,91 .
@x )6 Qv (A2

BZFindoutdlewmngnmberinﬁ'nei

series—216, 163, 120, 72, 24
(a)216 {b) 163
On {dy24

7. f3x2=10,5x4=18and 6x5= 22,
then 7x6 = 1 .
@n - b
{c)30 - (da

8. Some equations are solved on the
basis of a certain system. Find out the

. comect answer from amongst the
given -altematives for the unsolved
equation on that bgsis.
Eckx3=436; mxv- m;
6x9xB= 988 5 - R
@3 O ©5 (@6

" l,&'ﬁ‘

place of * in the following equation’
7"7‘2‘1-12 :
@x-+  @hex:

s (c]x,-,+ (d)+.x- -

10, 0 '+ means ¥, V! means-'x" ¥
means '+"and 'x' means ', then
36x12+4+6+2-3=1
- @e ®)B Qe @2
11, Find out the missing number.
8 9 7-

§ S

24 1
6 W %
@ 07 ©8 (@9

12. If DELHI is coded as 73541 and

CALCUTTA as 82589662, how can
CALICUT be coded? -
(a) 5279431 (b)5978213 -
(Qasis%  (d)saes

13, Moﬂﬂwasmlqetmd!eageofher

daughter five years ago. After five

mother will be twice as old as

“herd: . How old is the daughter
"N

@sr By
)15y oy |
14, Qisthe son of P, X is the daughter of

Q,Risthe aunty (Bua) of X and L isthe .

son of R, then what is L to P?
(a}Crandson ~ - (b) Granddaughter
(c)Daughter  (d) Nephew

15. Five birds Crow, Pigeon, Little pigeon,
Big crow and Eagle fly one after other
from a tree branch. Big crow flew-after

. Crow but is ahead of Eagle. Pigeon is

~ between Crow and Big crow. Little

" Pigeon is
- thelagt?: ¢

* - R T

(ﬁﬁsﬁ 3 (b) g ctow
(c)&gle @)Noneofmse,

0. Sibute" o et s 11 Diractions (0. e 16-18) Setdhe
m!ated!eltershvordfnumberﬂ‘omdlegwen

%18, KME <L £ RMS: T -

@SR BISW (OSU (SUS

. Which bird | lsj

17. CEGI:RTVX:: IKMO:?

(a) KLP

(OMNPQ
18. 8:28:27:1

(a)8
(c)e4!

(b)LNPR®

(d) OFHI

(b)28
(d)65

Direction (Q.No. 19) Which answer
figure will complete the question fi gure?

_18, Question Figure

Answer Figures .~

N

s

S

g

W

)

-

@

20. Which o the following figare
represents.the relationship among

DOG, CAT and PET?

0

0 O}>

9,

®

@

@

R

©

@

_-21. In a certain code 'KINDLE' is written
as ELDNIK, how 'EXOTIC' can be
written in that code?
(b) COXITE
(d) CITOXE

" Direction (Q. No. 22} Fmd the old figure
from the given

°I

{@)BMoTC.

(o Cxome

K

%

|

N

©

@
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A paper is folded and cut as shown in .

the given figure. When opened how

will it appear, find it from the four

alternatives given.
Question. Figures

H&

5

Answer Figures

0 000
0= 0[0

A

0[0 '°5
010 90

go A
t @ (@

<
L4
8o

. The ‘Han Booker Prize 2011 was

recently given to

(a) Patrich Dewitt (b) AD Millers

(c) Carol Birch  (d) Julian-Barnes
Nomination of Rajya Sabha Members
bymersodentwasmkenﬁ'omthe
Constitution of .
(a) USA (b) Ireland

() South Africa (d) France

The pamcle required to. continue the
chain process of uranium fission is
(a) electron (b} proton

(c) neutron (d) positron

. Recently, who has made the highest

score in ODI?

(a) Sachin Tendulkar
(b} Virendra Sehwag
(c) Ricky Ponting, - .

" (d) Tilakeatne Dilshan

81

. 'Yen is the currency of

(a) Yugoslavia  (b) Mexico

(c) Japan (d) Thailand

Nasik is situated on the banks of the
river. e .

(a) Mahanadi {b) Tapdi

() Krishna (d) Godavari

. Who started the 'Servants of India

Society'?

(a) Bal Gangadhar Tilak

(b) Gopal Krishna Gokhale
(€) Surendranath Banerjee
(d) Dadabhal Naoroji
Who d Nmricl]
(a) Vaséo-Dx

(b) Columbus . g
(<) Captain Cook - A URr,
(d) Amundsen k-

. The famous painting Monbsa’ was

the creation of
(a) Michael-Angelo

?gium%.q 2-’1 Wthe mfssmg_

24, Questm Flgufs

Sl

(a) m (@

" Direction (Q.No. 25) Two statements are

given followed by. two conclusions | and Il.

‘Section-B

' Ceneral Awareness

(b) Leonardo-Da-Vinci
(c) Piccasso

(d) Van Gogh

. Decibel is a term connected with

(b) water.
- (d) soit

(a)air
(c) sound

. 'Van Mahotsav' is assoclamd with
(a) cutting trees
. (b) planting trees -

(c) iricrease in crop

" (d) protection of plants -

37.

The accounting year of Reserve Bank oo

of India runs from -
(a) April to March

(b) July to june

(c) January to December
(d) August to July

38. In which state is ‘Silent Valley' located?
a) Tamil Nadu

(b) Kerala

(c) Asom

(d) Arunachal Pradesh

Who is considered the Architect of the
Indian Constitution?

(a) Mahatma Gandhi

(b) BR Ambedkar

(c) Jawaharlal Nehru

(d) BN Rao -

. Who said that ‘India’s soul lives in

" villages'?

(a) Vinoba Bhave

(b) Jayaprakash Narayan . - -

(c) LNy, - v

(d) Mahatma Gandhi

The first W to swim acrosy m
|mporlam seasis .

(a) Chandni

(b) Bula Choudhary

(c) Mridula Rajiv

(d) Priya Shanbhag

You have to consider the two statements to
be true even, if they seem to be at variance
from commonly known facts. You have to
decide which of the given conclusions, if
any, follow from the given statements. .
25, Statements Some humane creatures

are

All doctors are argels,

" Conclusions .

. Sorne' humane creatures are doctors.

Il. Sorne doctors are humane creatures.

(a) Only | follows

(b) Only I follows

(c) Both 1and Il follow

(d) Neither | nor Il follows

42. Insulin was discovered by
(a) F Banting (b) Edward Jenner
. {(c)Ronald Ross  (d) SA Wakesman
43. In which of the following towns is
'Moti Masjid' situated?
(a) Agra (b) Jaipur
(¢)'Lahore (d) Ahmedabad
44. Which of the following is used to
increase the ann-knodung property of
petrnlf
(a) Tetramethyl lead
(b) Tetraethy! lead
(c) Trimethyl lead
(d) Triethyl lead
45. The largest organ of human body is
(a) heart . (b) brain
{c) liver (d) kidney
48. The chemical name of ‘common salt' is
(a) sodium chloride
(b) sodium nitrate
(c) ammeonium chloride
(d) calcium chloride
47. Washing of peeled vegetables removes
the vitamin
@A’ b
(e)D (d)E
48. Nehru Trophy is associated wnth
(a) hockey
(b) football
(c) kabaddi .
(d) table rennis (women)
49. The total number of bones in the
human body is ; . o
(a) 206 {b) 260
(€) 306 (d) 360
50. FlmlndlariCommandmnCthas
(a) Gen. KS Thimayya
(b) Gen. KM Kariappa
(<) SHF) Manekshaw
(d) None of the above
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51. Findthe valoe of

4+,[4d +q‘im=?' ’

@4 m2 08 @6
52, The of ;of fi I
averapmanuu st 11

A

@25 ()65 ()18 m)ws
_ 53, The LCM of twp numbers is 48. The

numbers-are in the ratio 2 : 3. The sum
of the numbersis
(A28 (b)32 mw @ﬁ

54, The value of

1+ ! + ! +...
1 Bl Ja+B
IETW
(a1 by . -
@OV®  @Vw
55. if the cost price is 95% oflheseﬂmg
" price, what is the profit per cent? .

(4 0475 (5 (d)ilﬁ
56.'0n @ cerfain sum of money, the

difference’ between the compound

"~ interest for a ysar, payable

’ andth!pimmnwforayearls
© T 180, i the rafe of interest it both the
cases is 10%, then sum is

" {a)es0000 (b}t 72000
{c)té2000 - (d)¥54000. "

57. The monthly income of Hand Wisin -

the ratio 4 : 3 and the expenditure is in

lherattos 2. if each of them saves -

GWpetmom the income of W, in

fupees s )
- (a)t1200 {b)tmo
i {c) t1800- (d)®9000
58,1 22 ad B4 e
b3 ¢35
(a+ by :{be¢ =1
@3:4 . (b)4:sS
()58 (d)20:27 -

59. Ina class, the average score of girls in
an examination is 73 and that of boys
is 71. The average score for the whole
class is 71.8. Fmdlhepercemaged

% ()50 Q5% (6%

60. The-cost of an article worth ¥ 100 is
. increased by 10% first and again

Numencal’Apﬁtude

lnueasedbyw% Tbemlmuaase
',lnmpeesis
@R B e @em
61. When a person cycled at 10 kmvh, he
.amived at his office 6 min late. He
amived 6 min eardy, when he
* Increased his speed by 2 kmvh. The
dﬂanceofhmofﬁceﬁmnﬁestmﬁng

place is
~ (6)7km

{a)6km
{d12km (d)16km

, Darecﬁons (Q. Nos. 62:65) Study the
M{owmggraphmdmdleammdmef

—=

wasmm1m12mmm&"
62. What was the

ﬂiqpmdummdiaulwelsﬁm 1997
o 19931 o

'(a)33;96 B)ow
@s% * - (dao%

@ B2 (@3 (de
64. In which year was the percentage
increase in praduction as coripared to
‘the previous year, the maximum? .
(22002 (b}2001 () 1996 (d) 1997
65. The ratio of total production of
fertilizers in the years 1996 and 1997

" to that of total production in the years

1995, 1998 and 2000 is
@5:6 . (b)6:5 -

o9 @324 - - -

decline in

@.Inmgﬂnymwm,

%ﬁmmh&h :
average ofthe given years? -

6. Thesumofamdngﬂnmbe:andme'
"~ number obtained by reversing its-

digits is a square number. How many
“suth numbers are there?

@5 6 ©7 @8
67. When a.number is divided by 24, the

remainder is 16, The rémainder when

the same number is divided by 12 is
@3 ®4 6 (A8

" 88. Aand B can do-a piece of work in 72

days, B and C can do it in 120 days

and A and C can do itin 90 days. If A,

Band C work together, how much

work is finished by them in 2 days? -~

o 1 .1 1
a— (b= (= (@d—
,()40 ()30 (,)20 ”m,
137x137+137x133+133x133 .
’ 137X137x137-133x133x133

@ B @3 @
70, Tlteavuageof%nuinberslslz The

* ~ average of the first 20 of themi is 11

and tha of the et 9 10, The st

E number is

@0 B0 0 @6

71. Ihéprsemaﬁsd:\anéﬂaremﬁef
ratio 4 ;5 and after 5 years they will -
‘beintheratio 5 : &Tinptmnagof;,

Als -
@10y (b)30yr
OBy (day

72. GSglswhatperwlt’onksi

(F&M%()xm~-l

. Iftheareaof
-W"'?! wﬂﬁ o

tbisbanl '
(d)81em?

7. Aboaumu'wsthnmmmalm'
ﬂ\emmdskmlnlhagamstﬂ\e

square is-
{a}Z&cm? .
{c)36cm’ -

stream. The speed
" (a)6km/h

)¢ {b)Skm/h -
1)1km/h

(d) 10km/h

75. The ratio of the radii of two wheels is

3: 4. The ratio of their circumferences is
(a)3:4 (b)4:3 (Q)2:3 (d)3:‘2,;

of the stream is ~
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Blrectlons (Q Nos. 7&?&) tn tbe

following questions, four altematives are
given for the given idiomiphrase. Choose the

“alternative whicf best expresses the meaning -

of the given idiomiphrase.

76. Ihadwptﬂlmuptoptuupagood

(a) play music S
(b} use pérsonal influence
(c) use the instrument
(d) play asong
77. You can. easily. overcome _ this
situation, if you keep your head.
(2) keep faithin - (b) remain calm
() believein () trust the others
78. It is clear that the ideas- of both
" reformers ran in the same groove.
. (a) Promoted each other -
- (b) Clashed with each other
(c) Moved in harmony
(d) Moved in different directions

Dazectlons Q. Nos. mo) In . the
following questions, out of the “four

alteratives, chobse the one which best

: expresses the meaning of the given word.
. 79. Cajole :
 (a) nsist. (b) Persuade
" (c) Flatcer (d) Recommend
80. Fragrance P
(a) Taste (b) Aroma
(c)Sight (d) Touch

" Directions Q. Nos awz} In the
word

following guestions, choose the

opposite in meamngtothegvenword

81. Strife _
(@war. - - (b)Peace .
(JAnger  (d)Woe

- 82. Repulsive S
{a) Atractive  (b) Reflective .
(c) Distinctive ~ (d) Progressive

Directions Q. Nos. 835 In the

folowing questions, groups of four words are

following

-~ Directions

sectiond

Engflsh Language
given. In each group, one word is correctly

spelt. Find the comecﬂy spelt word.
83. (a) Definitely - (5) Definately
c}Deﬁnitky )] Defimdy
84. (a) Cemetary ~ (b) Semetary
© Cemetav (d) Cemetry
85. (a)Recesion~ (b) Reccesion
(4] Reccﬁslon .- (d) Recession

Directions (Q. Nos. 8689 In the
ssenoencesaregmnwnh
bfankstobeﬁ"ied in with appropriate word(s).
Four altemnatives are “suggested for each
question. Choosethecoma!maﬂveoutof
the four. . -

88. The sparrowstookno ........ lhebread
" (a)noticeof - (b)noticeabout

- {c)noticefrom  (d)noticeto
87. He shows great ability

hemat

(a)at ~ ()for
(c) about {d)in

88, There ... . any meswge from my
teacher, since she moved to London.
(@it (b) wasn't

. {c)hasntbeen ~ (d} hadh't been

89. May | give you ..... advice!

© f@an - (b)some
() liede (d) one

(Q. Nos. 9092}' In the
following questions, a part of the sentence is
Below are given alternatives to

themderﬁldpﬂnﬂtm (b) and (c) which
may improve the sentence. Choose the

correct alternative. In case no improvement

is neejed your answer is (d).
90.! I have not finished to paint
\ (a)painting

- (b the paint-of
(c) the painting
~ (d)Noi improvement
91, She usuaﬂy does not leave for work
Luntitshe fimshed all her chora
(a)fimshed

lhe door.

.........

(b) has finished
{¢) had finished
(d)No improvement

92, The article should not exceed more than
hundred words.
* (a) exceed beyond
{b) exceed than
(c) exceed
(d)Nmmpfovemen{
Directions Q. Nos. 9397 In the

following questions, some of the sentences
have erors and some are correct, Find out

which part of a sentence has an error and

corresponding to the appropriate answer (a),
{I;)) and (c). Jf there is no error your answer is
{d. .
'93. She is one of the (a)/ best mothers (b)/
that has ever lived. (c)/ No error (d)
4. John, | and Hari (a/ have finished (b) /
our studies. (c)/ No error (d)
95. Neither the mouse (a)/ nor the lion
{bi/were caught. (c// No error (d)

98. Afteryou will retums (a/ from new Delhi

~ (M will meet you. (c/No eror (d)

. 97. When | was young; (a)f 1 used to

collect stamps (bYas a hobby. {cV/ No
eror (d)

Dlrechons (Q. Nos. 98-100) In the
following ~questions, out of the four
alternatives, choose the one which can be
substituted for the given words/sentence.

© 98, A disease which.is spread by direct

- contact: .
* (a)Contagious  (b) Infectious
(c)Epidemic  (d)Endemic
99. The study of ancient civilizations. -
{a) Histoty " (b) Anthropology
{c) Enthnology - (d) Archaeology.,
100. An animal story with a moral.
. (a) Fable - (b) Tale-
(c)Anecdote  (d) Parable




